N+B. =

- ()
(b)

(e

)

(d)

- ()

(b} Using the block di

Al

cs) £t ) T | VEGS
1&-)2-¢tolk

Qub - C&

{3 Hours)

(1) Question Mo, 1 i compulsory.

A

f4 Al

O.F. Code : 546200

(2) Attempt any three guestions from remalning guestions,

(3) Assume suitable data il necessa ry.

Differentiatg between
What are the basie

feed back and feed forward control system.
properties of signal flow graph?

Compare Lead compensator and Lag compensalor.

Explain differcny performance index for oplimal control problems.

Obtain the transfer function of the Mechanical System :

)

=)

L

the given system:
5

[ Tatal Marks : Bl

L
Ea
5 f
ﬁi,-- -
55
' 5
ol
v
B
'H.br 10
£

agram reduction Teuhnig_yl@ﬁnd the transfer function of 10
Ky :

.'5"’
1} Obiain the stag:r-.lfariah!c model of the Trang
YO 3s+d
5T +55+6
i E::platﬂ’ controllability and observabi

f‘(bﬁhplc.
O

&

fer lunction -

lity analysis of LTI System

Eis}
=
10
Using 19
[TURN 0vER

Scanned by CamScanner



(4n)

O Code ; 546200

r

Fa

- (@) Sketeh the roog log "’

s Tor given system with unity feedbock.

-

F eie Tl $

(b) Use T
) : ;:\I!:: fjﬂ;ﬂh stability eriterion to Determine the range of 'k’ for stability of 10 {{P
+ I¢ed back system whose open Loop transler function is {,;‘*W
k w

Glle X .
¥ sls+1) (s+2) E:,QD

(a) Sketch the polar plot for the open loop-transfer function given [15:{{{}%" 10

6=t N
s*(1+s)(1+25)

(b) Sketch the Bode plot for the following Transfer Iiinutiu%ﬂt}

75(14 0, s
G(S}= d [ 25} (‘}rb.
ss? +16s+100) N
s
i,'\
. ()
(a) Expfufn the frequency domain specifications q}w
(b) Explain the concept of Neuro-Fuzzy adap ‘qﬁ:mulm! syste :
m.

(¢} Write short note on - Stead
: + Steady stat
— J Siate ﬂ"&*ﬂ In feed back control system and 7

==
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7 A L P Code @ 540102
QI*.!_.‘J b 1;_: L}) ™ Q

M1

Lo Question ol ks o iabsany
2. Attemipn any thiee quesilons suf of the reaining five:
A Assume sultalle duta wheres oF necessary,

Q1] Answer the fllowing

nvarian

a) Determine If the Following system bs memoryles, cawsal, [impear, dime 8
b L R
I Bxplain i bevel RO (legivm of Ugan engenec) contdiiions el | aplice i Rk,

o Explain Girshs phenonsenon, Wiat is a Gibbs oseil lition™

d} Explain relmion berween Feurlers Transform and Laplace trisforn.

€) Derermine if the given sequence Is periodic or nod, IT perindic, find out fundamental period.

] = m'..[%n 4 JJ

Q 2] a) Find the response of the time invariant system with impulse response hfnf={1. 2, 1. -1} to an

et sigmal xfnj= {1,2.3,1] using comvolution as well as using &£ transfomi. Veri v your
|10}

AREWETE,

L) Deternsiinge inverse Laplace Transfonn of [1a)

KR T

Q 3] a) Determine the Fourier Transfirm of the traperoidal function shown in the figure below, [10

& [ie)
A
ol 0 N 1 b =1
bs) Finad the inverse Z transform af the Fallewing function
[10]
1
X(z)=
(=) 1-0.8:"" +0,12:7
for the following ROCs
a) r:[ =06
b s <0.2

g} 02<|f<04
TURN OVER
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w1 s Sy ohnien Thestem ol Laplace Transhmm, [
Bth= wl g+ 30 & mgt=dh
]l AT sial bas oo sben Below, Sheteh e Golloaving siannls 1
5 P e |
Xy (
(R l
|
e LN
-1 i |
3 ) N i
1 agtdh YT . . B
it el B Y i "1".".]"” [t‘

bl Stabe wital pre preopiane .
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Ut ana,

S AT ey z e

! L L b e o i ese s

i oad sgnal P, (RS 1 FI P El |'|-'

arwl T e
Fhelal ool waininimisn

S Y, 1 ]

s
B P v T Epu e

Scanned by CamScanner



Pl B0 2,114

0L Code » S45MM
| Tt Marks i

(3 Hours )

5
] “\H
N (1) Question Nool s compulsory, o
{20 Attenipt any fone questions ont of remainmg s questons o
(31 Assume suitable data T necessary Ly
W
3,
L. Answer any - : . Ll
- Answer any four of the follow g t
= kit
.

[ What is the purpose of AFC oop s M \

n

() Explain the use of Tater i FM roceiva Wi
(eh Compare TN & FLDIA \‘31‘
(el Diaw e spectiu of AM wave, DERSC & SSECC wapg
Led Explaim noise triamgle m QQ

W

4. {a) Define muplitude modubation & dedve the squation e q@:‘uut-xn wisinlated g

Wive, H‘tu
(B Explaim the followsng with veferenee i nndio m*{:;-h.h L1
(- Toage fieguciey -p
(i) Squeleh cmen Lf*
{wd Pronble eomveimion Q}‘
(v Teaekog e Q.H'H
W
o) Do the sebematie of e o, ‘15'1{[” A e L LR T VLR L

I!Iu] A M2 canne mmudn!,uw Py 0 e st sine w1 W vt Al
vasllagme is Y & m.n.'nmml.Lié‘.u;h-.n i 20 ke, Witk the it R
frovqueney medulated w q"n. 1 the meniibating I 1 o i s
AL & vannie "I"lfrl-'l'l-q:"'-'lult.lll} el N, all el o, SERLEMAL MR, W
vt Ton this we AV Calnlane e powe Hapaten aoivess 013 \

v Dol 196 u.n.ﬁ.- PR

i '“Lr”“"l'”“”l"‘”’*""i‘""“"Hlmh*nmh.nh'mt W e DIRESC v 10
thy I tfﬂ':lll:lllh'l. AN sipnad van by Bk KL |
' 1 LRINTRATY
1 :'l| WA lI.'Ih"‘lj_ .'*..
U (11 l,'m1:h|~|||l~
1

l.ll‘ U AN & M
R R

TURN Oy kR

Scanned by CamScanner



QB O Sy

s

g N AN NN R
Nt

A0 P B NN
NN NN

B ) N N RN AN b N, NI NSNS N Y A,
NN e

lﬁh}*“ﬁlﬂ‘ﬁ'} TE] . - i \ A & hll'\“l"lll.,:"\\ I".II'Q:I""ﬂ “".'I-
Q0 T 0 A i A AN VR RIS N Ay

BRI (AR M AN AR I AR !

SR R A R RN 3
YN \
AR ANE
SRR \
(A A NN W
O EAR A SN g N

Scanned by CamScanner



wrtr
W are f‘(‘,':-_;f. 3

u.u-lFJIH'r'U"Dr Jonves
g --ih

S Sem
QP CODE : 5456003

b - 1 T 3 Hours) (Total Marks : BO)

1 (usestion Mo is compulsory Attempt any four out of five in it

2. Arempt any three out of remaining five.
ume suitable data, wherever necessary and justify the same.

3 Ass s
4 Figures to the nght indicate marks. AE}*'E
o
L. Al Given the potential 1 = 2x%y — 5z (V) and a point P (-4, 3. 6), find fi"':}""i-'
a} Electric field mtensity af P ®)
b} Electric flux density at P .::'CJ
£ Valume charge density at P . . ":f:}
Bj State the Maxwell's cquations for good dielectric in integral and pownt ‘{?}m (5)
Also state their significance. Qﬂ i
() Explain Super refraction. : 3
D} With the help of neat schematic diagram, explain the workfig of an (5
Electramagnetic Pump.
E) Compare MOM, FEM and FDM. q*-?,'.‘} )
%t
::é.:l.
3. A) Two extensive homogeneous isotropic dielectrics m@‘ﬁn plane z = 0. (5+5)
Forz >0, &y=4 andfor 2<0, &;=3. qﬁ-‘?‘
A uniform electric field E, = 5d, — 24, +,Hﬁ;1 (kV/m) exists for z = 0.
Find, {'I:"
a} E; for 2= 0. ey
b) The angles £; and E; make T-:ﬁﬂw interface.
xpression and explain the meaning of ~ (3)

B) State Poynting theorem, Write its EJ@; &

each term. ey
C) Obtain the reflection and uaijjﬁsiun coefficient of a perpendicular polarized  (5)

wave incident between ) ieleciric-dielectric boundary with an oblique
meidence. H:?
. =
3. A) Determine the poteptial at the free nodes in the potential system of Fig.l. (10
using Finfle ngﬂ ¢ Method (Band Matrix Method).

£ o Y
5 ik ,
hﬂ- :
Y A0y "—‘1|
{{*} L._, B O 1y
r';"""f] # .
-,:.f‘i':‘"h III-'I.I'—)1
i : Fig.1.
HH{JCEJ Dﬂ'-lw Hﬂl"lhﬂ"-l :qum-":lﬂﬁ I-.[lf EIEL'I mmagml': ﬁtﬁi&' in free Sp-ﬂl:lh l.j']
% {TURN OVER
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R QP CODE : 54y,

2

i : tudes of reReciad L
dence, determine e mprlitu reflecind g
. £ [ TERIDNS atg =10

For the normal mil
= [1"':".'”}5' B = 835 By = L iy =q

bl R
ransmitted E and H :1t 111[cr_:.;:¢1n
{ijven:  Ingtdent f=1o
/ Sepond region 15 free SPRACE-

| T W . : *.h‘:iL]lJ Equﬁl i_nl'l-
it v FRISS ransmls . : - i iy
' ;i LTILZET:Z ds?l:‘ depth and Wave velogity at 1.6 MHZ in alimiauin wigy g,

A =1.
comuetivity 38.2 msim and Hr : . v

Where maximum attconation of elecrromagnetic waves tukes place insjga th

i3

r:|

ionosphers?
[ ¢ in terms of d, H and £
5 Al Obfain an expression for MUL imlerms at o, |
If @ high frequency communication link 15 L0 hﬂ. e:ql::h]}_uhgd.].mwgm t‘-*:;hl;'
points on the Rarth 2000 km aeay, and the reficclion reglon of ionosphereisy
al height of 200 km and has critical frequency of 3 Mz, then calenlatct,
MUF far the given path. c

i

i

P

L

; i 2
B) The receiving antenna is located at 80 ki ttom the transmitting a%%-ma. T

height of transmitting antenna is 1006 o, Find the reguired haiil'it Of recaiving

anteng. )
C) Explain the formation of inversion layer in troposphere, ﬁl

{,__'.‘.
6. A) Consider a two clement mesh as shown in Fig.2, Usdhca FEM determing the
potentials at free nodes. ‘0

ENEE
I [ (0.8 18
2 | (14, 1.4y
321,20 %
4 1{1.2,27 | Y

81

Fig.2. :
ne crit 1 measure of jonospheri gtion and
detcrmine spherie prapagstion @
st ﬂ“mﬂ\ fiequency for reflection at vertical incidence if 1

Al of clectron density is 1,24 % 106 per CC

B) Define critiea frﬂcﬂjenn::y

C)  Explain forgion of e
s
2
kS
q,:]'l"'-. #%*t#*###*%#t*ti*

K
&

and condition for duet propagation.
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(1n)
qE ger- T EXTFC fafed D MR = 1

fpeeB | BT f [l

gE2-1h
Gub - £HC - (LI Conlee 3 544001

{3 Tlours) | Total Marks @ 100

o
SR, 11 Deestinn Mol amd 202 connaii oy E:i:'
21 A any three Trom remalinimg qUasons. '{_‘,%-
(31 Fignres io 2he right indicate full marks. s
eV Assnme aniabic data i regquired, ,-"}'J
|, fal Ihesiom a two sigge RO coupled CE-CR amplifier Tor Tollowing paramzters 5
Ava Lai, Fo 2000, S0, Vio=4 Vil Use DO 1478 transiscor. g_, y
ik Oheatn gain of the designesd amplifer with BE Linbypassed af the ﬁlrlgﬂ%'- 5
A
1. fa] Designoaelass B power Amplifier with the lollnwing speoi I'i;r:-::fq;]]’a._. - T
Culput power = § watrs, BL = § 02, VOO = 15 %, oy
(k) Cwleulate the overall efficiency al the full Toad %% z
o

o
3 (2] Derive the expression for gain, input mopedence and c-u?ﬁut impedance of 1
Pao stage FET baged CS-C8 amplifier with Rz b}rpaa&r_&
(b Ubtain Avf, Rif and Rof for the amplifier shown inflic fipure using concepl 1
of nepalive fecbdack, Assume b = |50, hie = Ipf;friﬂ

vis Y r

-"J-. ia |'". DI:I'I."-" [{= 1 I i :. . :
) J ".| e [ll:;l:jl:- II::{I']_' ti-g”.lﬂ r;j|L§; r:ﬂ]], ||'|1|:|'I.'t |'|'.‘-."ii5|.ﬂ||c'|: i:i'ld D'.][Fl'.ﬂ T':';-:";Iﬂ]'ll:t I-':| ]n
[ E e JJ 15 NN (”:I':-[ 'r lllpl” T.]ij" 1 i dn £ -
I‘_|- a I-{ sl & |.|r.|"' IJ"iI.I:lR |3|JI ] i1
{h:l L.. Ialj] e I:I.I:":e I t.[ E. 3 I | . tl hl l{.l r-
-.'_ o oL L. A F.-I!:'“i_'-!-!_'l_ :-J.'ll'_l' TPCIICe i ]
n 1 I& HCE EED]E“’I HHT“E"-’ D:-:.C]]Iﬂl-l.'ll'. [dh
= |.-" Wil g
-i '.|I I[l-: I-hl: I”:J |:|I EJ“;IU.:I- 2 i i
; J_l."- T FI __:-\. . dl:lg'ﬂ.--\..‘ E*[:]h‘:l”'l []:I'L'- I:I[J._,]-i:l.1]|::ll'| |:||- il S?\. [N} EEd ||'
.'-S VRBLE nullr_!'rll‘.-r'ru[-_-r "."'-"i[_I] E'II1,'_'I['I.':I|.‘.-I".'|[ 3 "'.-I.'_‘."r][' . PR
- .- pe » M - o L 1I1r. - I - :
“:IJ ':.1-'|-|i]|r. IhD |.|'.:'_'l‘_r|:.£| Ccl -Jf] _||3I'.||.||.'\-'. .'I::.-' [Ii ||: Il 1 .-Er I"‘-IE'” n ur 4

Mssume hie= 5K g
T T REL I = 200 for boih the BITS, Negloet hre sy
: e ol hre and hipe,

ITURN OVER
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1

-

[al

expression for
ampliticr.

Explam the conce
apd puput impedanes

(b

Comprare e ¥

2

s ﬂfﬂl“‘"':r s

a - % 0
arious Y] : omplimen

cfficiency @

f sedback an d

freoative e
s shunt {cedh

Iy woliags

lifier (4 poinis) and henee derive the
slifie G
: py symmetry CLASS B powe

explain it effect on main.inpy,
ack netwaork,

‘H.ixl-
e I ';..!
Weite 4 shetl nofe an 101501} Wi i R
(a] Twvpesof couplingn pmplific ’ i ar Rl A2
sl l_"lw.u:; sver distortion in C1ASS T pows ' 5 :3';
] o PET B . 171 "y II'\l :
(1 Heat sk in power an plifiet W
(dy UTP and LT in Schmiit ingger {_?R'r_:-
g
(ed Miller theorem. ‘f\?
&
g
e
e
qu
O
f_‘xb
o
R
&
l:"lll_-\.
.
ol
- I:-_-'.
&
oo
(] )
3 (TURN OVE!
o
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=
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A
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i S - 7 care (Cagr) VOUDEC vy

NP/ este) il chEy

& B-he -l
= . : JL Caode @ 545001
Geeh - MP v
{ 3 Hours) [ ‘Tl Marks (50
S iy D L compulsoey, Salve any 2 fpucalions oul ol remainng 7
Al
i Ay
oo (i) Wrle feetures nf SIMEL, 3 X
() Differentiale borween srninm and meximurn muodes o 086, 4.
fep escotbe niz dliageim of BORS microproressus A
it Sketeh evad aomd wrne hos cyele of 3086 with example. ; -"'-*"{
feb Explain in beiet about progronmzable peripheal inlerface 8253, -:,; - 4
g
2. (ay Describe the varions addressing mados sepported by 2080 with C:{ﬂﬂlljiés.' 10
10

b1 Explain with suitable examples the following instructions of 808G,

nepw ) TEST i) LAHF e XLAT  w) LEA -,}" '
N
'S
1

3. [ab Wie an assembly language progemm of 8086 o Hind oat I’Elﬂ_@%ﬂ] of mimber ™ 10
and alsee draee Elowehar, *

(&) Discuss the Ninctions of gencral purpose registers ufﬂ@ﬁ\. Explain the funclion  1p
of cach register el instruction support Tor these ﬁlj]h‘[]nns.
o .h
4. {a) Describe the function of following pins in Hﬂﬁﬁﬁwrm OLESSOL, 14
M A READY MALR w]{;ﬁi] andd Q51 5) %40, 51,52
(bi Explain pin diagram ot ADC 08050504 {‘wvf methad of inteifacing to uuaﬁ 1

MICIORrCESSOrS.
.;_}:-_.
3 Design 8086 microprocessor based s;,-cﬂ.,m using mininmm mode with the ¢ fnllowing 2
specilications, S
(1} HOBS microprocessors vrﬂrkmg at 10 MHz
i) 3ZKh EPROM uzing. A Deviees
() 12 Kb SRAM t;':uu,i B tevices

Clearly show ||1ﬂmn|'_',f map with ad¢ress range. Draw the neat schematic
'_It -
il |I L il 171 r
() Explain divect memary aceess (DMA) cantroller 8257 and its method of 10

nterfacing 'wTI| BIRA microprocessor with a suttable example,
(bj Deseribedfrbricf and com i
i I fipare architectare of 80286 and 83 86 microprocessors, 10
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ge fea)-TL e{ﬂ' Cﬁ'ﬁrf Mo - ¢g1r

FL N | |'I & A i IJI |II
(oY L I
A -1V
). P Code : 545300
Curation: 3 Hows [Mevisad Cowrse) Total Marks: EO £
"
MB, 2B L s compulsany, hﬂ;
'H.,_"
2} Attempt any three from the remaining. H§
Q9

Q1. a) B f(x)is an algebraic polynamial inx and A is an eigen value and X is the corresponding t'?n
wector of 3 square matrix A then (.4} is an elgan value and X is the corresponding EIEELEEHDF

of F{A).
Xy 1??'\-{.}
b Find the extremal of j (x + ¥ )y'dx o is)
LT q{j
)
£} Expross(6,!1,6) as finear combination of v, = (214), ¥, =(1,-L3),», —3{:3 2,5). (5]
d| Evaluate I fz where Cis the cirde [z-2)=0.5 qq'} 1]
: ~1)? ( '“'E}
0.2, a} Fing the cur = f - ﬂb
urye p= ﬂﬂfﬂf'-"-'hﬂj{}’ }" H‘{Isﬁn,‘_\'l-mumllj e =1, 16)
L «ﬁ.—ll"'
b Evalugle -I-E.Jf.r_ oo r'[..."
s S+ dcosd (6}

'DP

c) ﬂnr.‘ThEﬂl‘l,u’l.llal"'-l'ahrd-dl!'l:ﬂﬂinl:lﬁﬂ;ﬂ'@F 3J
't:.;::' 2 (8}

o

_ " I 0 s
g ”mfvfawwamiI:-:m:rﬁgﬁ-’mrum= =2 =3 -4 ndhence, fing 1h
« fndine matrix
i 5 79

represenied by 4° -\:E,..g +0A*

~ 1247424 -1
b} Construct an ertipnormal basis of Ry o

\ [}
S={{2,0,4),(-1 h‘i 8,11} sing Gram Schmicy process to (6)
3 ' .
F Frewd all T‘Eﬁhh Lﬂmnt 5 xpanclons af __f_-_ a_hu“t S tﬁ:l
*”"W(l'&ntu. (z iz 2} 'ﬂd'fﬂhﬂﬂ the region of
\r
%{L (8)
W
J [Turnever
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i ical form and hey,r
h T oo Wz bax tocantil s
314 2z - 20 }

)
ind walue |55,

-
.4 3] Aeduce the guadratic torm 1': 1 },
ure

d it rank, index ant slgna e

find ita rank, & |_.|I|JE-E ] - 5 5, [mjtl““-'"*-"".:E:

: ur of th .
4z 2z A e C |4 the cantour 92
b IF ) = | — = IR R
B i
of §(3.5),0(0).4 (=114 ) I ]j iy =yl=2 W
plem 1= | LY =¥ —=X¥he
she koundary value pro I,
c] Using Raylcigh-Rltz methad , salve the boun : {‘3'3;.
B
=yl given ¢(0p=will= . 0
i)
12 s e -“Hd;.;-with _}'IZ'L]}=2§§'-E"1}=G B
0.5, 2)Eind the extremal of the Furction [ (ay +¥ =¥ 1
l:l .
422 &
q“ )
; ' ases A=12 4 2|y i
b Find the orthogona! matrix P that dizgonalise
| 2 2
7t v
+ = : i i - _]
£ Using Caachy's Residue theoram, evaluale c£ T d—“::;.!“mr o Cis the circle fi] | 2
d
‘ {}} i
iy [z +1}=1. )
o
x 3 ; )
: - i
0.6, a) Find the sum of the residies at singular pu@s of fiz)= [ -

T

Ir" .
1 4 % wis] b =Y
bl If A= ,prave that 4™ —3.4-"
:I -2 3] '-;;i:] |__',:| 2 y
¢l (i) Check whether W={ixy.z) -3;‘5'3, %y,2 2rein RYis a subspace of K Y with usvai ade’ lio??
usual multiplication.

{ii] Find tha unit vectar in@i orthogonal to both u=|1,0,1) and w=(0,1,1].
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Ml 11} Question Mo, | is compuisary.

(=) 5““" iy e questions frem the remmining ve,

['.'L] Idgures o the sight infisele 1 mucks

+] Assume suitable duea (i equined snd mention the sume in the awer skeet

a0 . e

fo Balve wey five:-

Ll Compitre serics and =hont volos a repilacrs

Ll" Ditferentiane bet “2 Do LneEster BT ad e anzister (O T current SALFCES:

fat
2l Wit 1y erces-guver d siuction® Haw it 5 overoome.

'«'—" Derive cxpression for e o iz viltage of Jitferentiator,

f"‘ BT hizs parasheters =2 I'IEI".]IL: el Iem 1A, J=20000, =02 pF, Caleulate I."EI:Ii-"rII.'l I

= nad enpagiiunee C, o BIT

(5 Lyraw ] esplaia: in brief ficquency response of Commen Emitter .-‘u:m] J'-:

‘tpr[nn] 07Y, Vi=e, Cr=iipF ard Cp=IpF.

() Caleulare the small siguel mid bers valtame pein,
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Fig ’-'d'x

2. {b) For the cirewit in Fig 28, the-fransistor parameters are: Kn= I, V=08V,
Miller Capacitence (i} the higher cut-off

Cgs=2pF und Cpd= =0.2pT. D:L:,m-';ue {i] the

[reguency (i) the mid band -hu fape gain
| =14
N T %"' =Fi0
% iy =
; — st~ ——
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e |
A A :Ij ke
Npm =
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(i) DE'I-::nLun:, “he higher ot off
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Emitier amplifier (CE-CE) ang de,

e Comme? resigtance and output Tesisgy,

iop =1 + 5
kg Dy g1 2 dinﬁ:nfntfigi“;ﬂinT " urrent gain, NPt I
expression for averd circuil. ; in Fig 3b are: i =100, Visk{on=q 7
using hybrid-% equivalent s for the cireuit shew & Find differential gain Ad, Cuq-,'
(b} The transistor parameles quch fht p=150pA. (il m:

and Va=w. (1) Dc[em‘.iqﬂ s
Mede gain Ac for ong sided ?:EEHI a

M m 50 LY

i L)
3
F::u
_|'||' 'i,-: I}-l
Fig 3b &{P

4. () Explain working of first order low pass filter with Eﬂg}ﬁ’ circuit diagram and ;

derive expression for its voltage gain and cut-off frelt;um é}, s
4. (b) Explain working of transformer coupled C ﬁ;b po plifier

expression for its efficiency. . . . .
5. {afmnmw cireuit disgram of subtractor using Uph;fﬁ‘and derive expression for its o

-

voltage, | : _ .
5. (b} Draw the circuit diagram of MOSFET ﬁgﬂﬂd differential amplifier and do

expression for differential voltage gain, mm@ﬁm mode gain, and CMEE.
6. Write short notes on any four Dl.r_ﬁ“

(a) Darlington Configuration Lz

(b) Transistorized series regulator .o

{e) Widlar Current sources ‘L{'\

(d) Cascode Amplifier {E‘

() Class AB Power Amplifier”

|'.:_.|
|
‘-:.I:"EI
el
1.
=
.
&
‘Eﬁbf
“xqgl‘
e
i
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N (L) Cuestien Moo T s comnpulspry.
[£)  Atemptany fowr guestions Fom the wenaining six quostions,
i3] Figares o the right indicere full mocks.

|' . I .
- LI - e
1Lofa)y i j*—l o T then Sl 47, 5 ¥
’ L ; I L
= -2 !
LE 2
R P 4z 3
g : E oty dr ; s et nom
(o} Fualuate 2 S from oz = 1= te z = 20 along the curve ¥ =3t 2§
i " -':'\.-
z 2 0 sinx i
(oh Prove that 230 = 0 ! - COSK | o 3
(e} Prove mat 3 ‘1;- =~ | o= . x
'._ ~ .
i
fd) Firl the comstants a b o ,d znd ¢ IF Wi 5
el = (" = b 'y moy® —du? - 2990 + 148y - oxy! +ony) ig-dnalyvtic
,i:x
|'"\'l;.
ety -
6 ol | B v
O
.. : . . L i
2. {a) Find the gigenvalues and eigen veetors for the nafkrs A=l-2-3 -4
o
& EEE:; y
I
"
II.- '\l\. '-l.r-:::\. -'l
(bl Prove that | = 5 - [T Ty lkd
] o0 uUH i fy
X E o T ol
”‘ S £
T .
iy . s
fel Oblain the Tylors and faurenrs zevies of [f2), Where [z)=— —— byt q
3" 45240 5

e L ;
7 - 0, indicating the region of convergence i cach case,
e

3 :
"'\.'c\'-'h = 1
[3 =11 |
() Show thai the manix 4 =|-1 § g

2 |

™ -
L;l'-‘" |1 -1 3 |
i) = -

'k
(s dizenaiisable and write the dizgonal form
+ |

s T
e 1 i
B Evalzate _fmda,usmg conlour nteqration,
i B

€] Verify Green's theorem for F = (x*-xw)i = {x*%)j and C is the elosed curve bounded q
by x?=lyandx=y
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(a) Findd the bilinear transformation which maps the points #=1,i, - form the x plane
onte the pownts w =0, 1, » in w planc

x

fi

-'l in
(o) Reduce the guadratic form Kyl 4 Tolet.0 e . g
' 2 el Xo Sy de-Fxy-Byz ddaz o canonical [orm throwgh
congrient franstormation and find s rank, jndex and siEnature,
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